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TPHIOHOMETPHYECKHE ®OPMYJIbI

sin” o +cos” o = ta(a+ ) =
Igo-ctga = cos(ar— ) =
ciga = clgo =
1+tg°a =
, ga =

sin 20 =

. 2 .
cos 20 = SIl- & =

. T

tg206 = tg(r+a)=




KapTouKa

1

1 1
2 1
3 1
4 1
1
i 3
6 3vV3+2
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COoS d

—y3

3 4 5
0 1 i%+nmx€2
V3 —V2-+6 2342
4 34
V2 120 ?
8 119

2T
i?+ 2nn, n € 7

0 1
27K, K € Z
2 1 artg§+m<,1<eZ
(—1)* -g+ K, K € Z
11t 7w

. 2T, ;
mn,n € 7 6 6



TPHIOHOMETPHYECKHUE ®OPMYJ/IbI B
3AJAHUAX EI'3, C1

a) Pemmure ypaBHeHHE cost=l—oos(§—x).

6) Haiiqure BCE KOPHH 3TOr0 VpaBHEHHA, npnna.mxexamhe MIPOMEXKYTKY
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2?7

sindSx+smx=0

oc+,BCOS(x—ﬁ
2 2

sin o +sin 3 = 2sin
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